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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and WGP angle
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dn vs Band per detector and wavelength

Detector=3 SS2, 447.999 nm
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dn vs Band per detector and wavelength
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dn vs Band per detector and wavelength
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dn vs Band per detector and wavelength
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dn vs Band per detector and wavelength
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dn vs Band per detector and wavelength
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dn vs Band per detector and wavelength
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dn vs Band per detector and wavelength
Detector=13 SS2, 640.496 nm
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dn vs Band per detector and wavelength
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dn vs Band per detector and wavelength

Detector=1 SS2, 834.499 nm
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dn vs Band per detector and wavelength

Detector=5 SS2, 834.499 nm
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dn vs Band per detector and wavelength
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dn vs Band per detector and wavelength

Detector=9 SS2, 834.499 nm
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dn vs Band per detector and wavelength
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dn vs Band per detector and wavelength
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dn vs Band per detector and wavelength
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